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QUESTION NO: 1

Click the Exhibit button.

[edit protocols ospf]
user@router# show
reference-bandwidth 10g:;
area 0.0.0.0 {
interface ge-1/0/0.0 ({
priority 255;

}
interface ge-3/0/0.0 ({

priority 128;

}
interface xe-0/0/0.0 {

interface-type nbma;

Referring to the exhibit, which statement is correct?

A. Interface xe-0/0/0.0 has a default metric of 10

B. Interface ge-3/0/0.0 has a default metric of 10

C. Interface ge-1/0/0.0 can only form a single adjacency

D. Interface xe-0/0/0.0 can only form a single adjacency
ANSWER: B

QUESTION NO: 2

Click the Exhibit button.
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[edit protocols]
user@router# show
protocols {
ocoam {
gre-tunnel {
interface gr-1/1/10.1 {
keepalive-time 10;
hold-time 30;
}

Referring to the exhibit what are two reasons for the configuration stanza? (Choose two.)
A. to reduce the risk of forwarding traffic through a stateless tunnel

B. to mark the tunnel down after the hold-time expires

C. to remove the tunnel interface from inet.0 after the hold-time expires

D. to mark the tunnel up after the hold-time expires
ANSWER: AB

QUESTION NO: 3

Click the Exhibit button.
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Referring to the exhibit, which two statements are true? (Choose two.)

A. The BGP peering between R1 and R4 should use loopback interface addresses

B. The BGP peering between R1 and R4 should use physical interface addresses

C. The BGP peerings between R1, R2, and R3 should use loopback interface addresses

D. The BGP peerings between R1, R2, and R3 should use physical interface addresses
ANSWER: B C

QUESTION NO: 4

Which two statements are true for GRE tunneling? (Choose two.)

A. GRE tunnel endpoints must have a valid route to the remote endpoint
B. GRE tunnels support multiple logical units per interface

C. GRE tunnels are stateful by default

D. GRE tunnels support only one logical unit per interface

ANSWER: AB

Explanation:
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Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/filtering-unicast-packets-multicast-tunnel-
interfaces.html#id-configuring-unicast-tunnels

QUESTION NO: 5

You have two MX Series devices connected together and configured for Layer 2 operations. The interface that connects the
two routers must carry tagged and untagged traffic.

Which approach would meet this objective?

A. Configure the interfaces as access ports with the native VLAN option
B. Configure the interfaces as trunk ports with the native VLAN option
C. Configure the interfaces as access ports with the voice VLAN option

D. Configure the interfaces as trunk ports with the voice VLAN option
ANSWER: B

QUESTION NO: 6

Click the Exhibit button.

[edit protocols)
user@router# show ospf
area 0.0.0.0
interface ge-0/0/1.0
bfd-liveness-detection {
minimum-interval 300;
multiplier 4;
session-mode automatic;

S—

Referring to the exhibit, how many milliseconds must pass before the interface ge-0/0/1.0 is considered down?
A. 1200 ms

B. 900 ms

C. 1600 ms
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D. 2400 ms
ANSWER: A

QUESTION NO: 7

Which statement about a virtual-router type of routing instance is correct?
A. It is used to separate large networks into smaller administrative entities
B. It is the only routing instance type supported on Junos devices

C. Itis used in Layer 3 VPN implementations

D. It is used to create and maintain separate routing and forwarding tables

ANSWER: D

QUESTION NO: 8

Click the Exhibit button.

[edit protocols]

'Ibg-pl
Error in neighbor 192.168.1.2 of group my-int-group:
peer AS number must be configured for an external peer
error: configuration check-out failed

You are configuring an IBGP group. When you commit your configuration, you receive the error shown in the exhibit.
Which additional configuration parameter must you add to your configuration?

A. multipath

B. type external

C. type internal

D. export

ANSWER: C
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QUESTION NO: 9

Which two characteristics describe 1S-1S? (Choose two.)

A. A collection of Level 1 routers serves as the 1S-IS backbone
B. Level 2 routers connect areas in an IS-IS autonomous system
C. A collection of Level 2 routers serve as the I1S-IS backbone

D. A Level 1 IS routes between areas and toward other autonomous systems

ANSWER: B C

Explanation:

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/isis-levels-understanding.html

QUESTION NO: 10

Which two statements are true about IP and GRE tunnels? (Choose two.)
A. The protocol field is changed in the inner IP packet header

B. Tunnel traffic is encrypted

C. The TTL field is changed in the inner IP packet header

D. Tunnel endpoints need a valid route to the remote endpoint

ANSWER: CD
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